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dim value, 10

value :
10

value 10
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value(0) = 810

value O 810
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enemy f
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init=>/R)b mainZ/N\Jb tama_draw S5 /N\)LDE

randomize

dim enemy_f, 20
dim enemy_x, 20 enemy_birth
dim enemy y, 20 return

gosub enemy_birth

gosub enemy_draw enemy_draw

return
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» randomize

rnd

rnd

» rnd(pl)

0 (pl-1)

pl=1 32768:
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» enemy_birth

enemy f
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(368)
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enemy_birth

foreach enemy f
If (enemy_f(cnt) ==0) {
enemy f(cnt) =1

enemy_x(cnt) = rnd(368+1)

enemy_y(cnt) = -32

break
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» enemy_draw

enemy _f
(@) (d)
(a) Y 3
(b) Y
(c)
(d) continue
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enemy_draw color 255, 0,0

foreach enemy f mes "
If enemy_f(cnt) {
enemy_y(cnt) += 3

If (enemy_y(cnt) > 600) {

loop

enemy_y(cnt) = -32

continue <

}

pos enemy_x(cnt), enemy_y(cnt)

continue repeat
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enemy _cycle O

enemy_cycle 1

enemy_Dbirth enemy_birth

If (enemy_cycle !=0) {

enemy_cycle-- \

return 4

}

enemy_cycle 60

foreach enemy f

loop a
enemy_cycle = 60

return
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key check
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key_check3 )L

key check
stick key, 5

if (key 1){
if (x =0){
X=x01

}
if (key 4
if (x =400-32){

}
If (key 16) : gosub tama_birth

return
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